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import sys

sys.path.append("statlib")

from univ import dot_plot

dot_plot(x, y, accu=0, stp=0, log=False, symmetrical=True, ylab=None, title=None)

2.1 5|¥

X

y
log

accu

stp

symmetrical
ylab
title

3 fERSI

fitih = N EE D 12T 5

y Z B Ab 3 % 7D D,

BERRIE &) 2 EIC2 58, BEDPEZLBRWEHICT 51, REHOMEEFRET
5k,

BNET 5 LM AREEZREL, ZOMEBINNIINEDT, FERLZNESHEICL
THET 2,
KEATNCFEEZARS L EIC, BEPEZLRVEICTS TOOME, BT
3 EWY M REL, ZOMEPHEIINEDT, TGRS ZNESEICL CHE
T 5,

R A NFRICHE <

fiEwh > ~v (77 40 b TlEflin )

AN (F7 408 TRED )

’import pandas as pd



iris = pd.read_csv("data/iris.csv")
y = iris["sw"]
x = iris["sp"]

import sys
sys.path.append("statlib")
from univ import dot_plot

dot_plot(x, y, ylab="Sepal Width", title="iris data")

accu = 0.024000000000000004 stp = 0.06666666666666667
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y = iris["sw"]
x = iris["sp"]
dot_plot(x, y, log=True, ylab="Sepal Width", title="iris data")

accu = 0.0034242268082220625

stp = 0.06666666666666667
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accu, stp ZEL THS,

y iris["sl"]

X

iris["sp"]
dot_plot(x, y, accu =

0.05,

stp

= 0.07)

accu = 0.05 stp = 0.07
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